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method getOrderTotal(order) is
total = 0
foreach item in order.lineItems

total += item.price *x item.quantity
if (order.country == "US")

total += total * 0.07 // US sales tax
else if (order.country == "EU"):

total += total * 0.20 // European VAT

return total
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method getOrderTotal(order) is
total = 0@
foreach item in order.lineItems
total += item.price *x item.quantity
total += total * getTaxRate(order.country)

return total

method getTaxRate(country) is

if (country == "US")

return 0.07 // US sales tax
else if (country == "EU")

return 0.20 // European VAT
else

return 0
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+ getOrderTotal()

total=0
foreach item in lineltems
subtotal = item.price * item.quantity
total += subtotal * taxCalc.getTaxRate(country, state, item.product)
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p.doStuff()
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Button okButton = createButton()
okButton.onClick(closeDialog)
okButton.render()

Dialog «interface»
> Button
+ render() + render()
+ createButton(): Button + onClick()
[ | A
WindowsDialog WebDialog Windows HTML
Button Button

+ createButton(): Button + createButton(): Button

return new WindowsButton()
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O {&0| =535t H 7|X Dialog SEHATI =& HESTH &
Asofor L C (B2 Y HER BE FY HESO 2=
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// F2|00g SA= HMEF 22MA9 AA|

_I||
// SARL|CE, A2|0i0]E 9l XtA SEAS
// ®3eLLCt,
class Dialog is

// A2|00|H= WEZ| HMES UL CIZE FAHE HIY =k JAFLICH
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abstract method createButton():Button
// 3Z|00|Ee| F YR= HES 4Y 20| otL|ct, 3z|oo[H=
Moo= WEZ| HMEOA HHetE HE A
BHASS HEZ HAMEE H2t0|E T
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/7 % o HAMEOIM CHE Q3o MES sisistol oY HZUA 2XS
// WENoE WA & YL

method render() is
// WEE| HMEE =E510] HE ANE HdstMR.
Button okButton = createButton()
// OlHl HMES A83tMIK.
okButton.onClick(closeDialog)

okButton. render()
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// 74 3Z[00[EE2 B HEFS9 |dES HESH| fld HED o
// 2HE0|EFL|C,
class WindowsDialog extends Dialog is

method createButton():Button is

return new WindowsButton()

class WebDialog extends Dialog is
method createButton():Button is
return new HTMLButton()

// ME QEHojA= EE T HES0| FusloF st= HASS M
interface Button is

method render()

method onClick(f)

// 74 HES2 HME UEHo|A9 CHfst foig HSELICH.
class WindowsButton implements Button is
method render(a, b) is
// HES A= AEtY= HESINR.
method onClick(f) is
// HIOIE|E RN 22 o[HEES HiIFstMR.

class HTMLButton implements Button is
method render(a, b) is
// HES| HTML HIES HEtstM(R.
method onClick(f) is
// 8@ EEteX 2 O[HEEZ HilYstMR.

class Application is

MEE



52 field dialog: Dialog

53

54 // W2 WX 2™ £= 2F AFEo| w2t 32[00|Ee [R¥S MEiSL(C
55 method initialize() is

56 config = readApplicationConfigFile()

57

58 if (config.0S == "Windows") then

59 dialog = new WindowsDialog()

60 else if (config.0S == "Web") then

61 dialog = new WebDialog()

62 else

63 throw new Exception("Error! Unknown operating system.")
64

65 // SEO|KE IEE= HIE 74 F2[00lE 9 7|E QIEMo|AS S3h= A0
66 // SFX|EE e F2|0f|0[E{Q] QUAEIAL}L SHH EtSerL|Ct. ZEt0|HUETL

67 // FE|M0|E{Q] 7|Xx AE{H|O|AE Sdif I2|0f|o|Eet A& AHYPst= o ZE
68 // Z2[00[E{Q] XtAl SAS S2i0|E0 MY £ JAEHLICH

69 method main() is

70 this.initialize()

71 dialog.render()
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